Dawson College: Linear Algebra: 201-NYC-05-S07: Winter 2010
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Student ID:
Quiz 7

This quiz is graded out of 10 marks. No books, calculators, notes or cell phones are allowed. You must show all your work, the cor-
rect answer is worth 1 mark the remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (5 marks) If A, B are 4 x 4 matrices, det(24) = —16 and det(B) = 2 then find

det((AB)' (2AB)~'A%B%). nobrce ad&(M) = -1}
(show every step) ozqolct/é = - 6
detA = -1

At ((AD) (a48)" A" ")

det (AB)" det (248) det A™ det B

det AB ! (detA)” (detB)
del 248
det K depls ! (et ) " (detp) 5
2 et depR

i

Ll

2
< / - ) ( /Q/)J
2 Y
= L
oY
Question 2. (3 marks) Show that if A is not invertable matrices then AB is not invertible.
det (A) = del A det B devA=0  swee A |, nolb 1 ver2ide
= 0 del®
=0
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Question 3. (2 marks) If u = (1,3,-1), v=(1,2,—2) and w = (1,—1, 1) then compute
—20-3v)+2w = - + ¢ +Ju7
2 (1,3,-1) +6(1,3,-2) +2(1,~1,1)
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